Supplementary Material D: Synthetic MCSA data simulation

results

Synthetic MCSA data: MMSE response parameters, and initial probability

parameters
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Synthetic MCSA data: other response parameters
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Synthetic MCSA data: log-rate intercept and death bias parameters
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Synthetic MCSA data: log-rate iage parameters
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Synthetic MCSA data: log-rate iage parameters (continued)
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Synthetic MCSA data: log-rate male parameters
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Synthetic MCSA data: log-rate educ parameters
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Synthetic MCSA data: log-rate apoe4 parameters
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Synthetic MCSA data: MMSE response parameters
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Synthetic MCSA data:

parameters
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Synthetic MCSA data: log-rate intercept and death bias parameters
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Synthetic MCSA data: log-rate
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Synthetic MCSA data: log-rate iage parameters (continued)
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Synthetic MCSA data: log-rate male parameters
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Synthetic MCSA data: log-rate educ parameters
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Synthetic MCSA data: log-rate apoe4 parameters
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